KEHlm BRINZETES
(B) ¥r31F4H1H

F—SHEMKIN (BT ERFMIEARMR)

(£) SH24E3H31H

(BEfi7 : M)
BERE FE(A) RE(B) ZR(A)-(B) "z

SZEGHISERY SURA 100 61 39

IR | ZOAOURA 411, 900 411,900

Al mamA 411, 900 411, 900
EEFHIAGH (1) 412,000 411, 961 39
A 190, 000 186, 856 3,144
B EIRBIT 190, 000 186, 856 3,144
EEETH 102, 000 16, 876 85,124
= PARE S 2,000 2,000
# BB 100, 000 16, 876 83,124
| |EBER 1, 706, 776 1, 640, 762 66,014
%é’ BRI 50, 000 50, 000
5y FRERSRE ST 250, 000 226, 460 23,540
5|y | PHHEREES 512 -512
1R PARE S 2,000 -2, 000
= [EETH 11,000 10, 845 155
FHRIZH 10, 000 9,594 406
RBRAIT I 230, 000 225, 000 5,000
ST 266, 976 266, 976 0
it EYESRIT 784, 800 784, 800 0
MESTH 104, 000 114,575 -10,575
EEEHTHET (2) 1,998, 776 1,844,494 154, 282
FEEHESINEERE (3) = (1) - (2) -1,586, 776 1,432,533 -154, 243
@E 5 0 0 0
= A 0
| |EREREEEIRAG (4) 0 0 0
= 0
T 0
| |EEEESSE (5) 0 0
¥ |MERREREERINEEM (6) = (4) — (5) 0 0
i ”)% ZOMDESINAGT (7) 0 0 0
= 0 0 0
E i 0
| [zotoEs=EE (8) 0 0 0
: [rotoEmESRTEE (9) = (7) - (8) 0 0 0
FHEEZH (10) 0
UEAESINTEREAAST (11) = (3) + (6) + (9) — (10) -1,586, 776 -1, 432,533 -154, 243
BIEARSINERRES (12) 4,843, 641 4,714,332 129, 309
UEARTHIESES (11) + (12) 3, 256, 865 3,281,799 -24, 934
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FEAPLVMVRBENR ERINZETEE

(B) ¥r31F4H1H

() H#243A31H

(BT TREEMIERR)

(Bfiz : M)
BhERE FH(A) RE(B) =&(A)-(B) &%

RESEINA 133, 059, 043 132, 834, 461 224,582
EEERA 118,807,010 118, 806, 230 780
TOMDEFREINA 14,252, 033 14,028, 231 223,802
HPHEBHENA (RE) 10, 642, 534 10, 642, 531 3
FHPHEBHNA (—AR) 2,295,999 2,016, 700 2179, 299
”)% TOMMDFEUA 1,313, 500 1, 369, 000 =55, 500
ZHF SEHEUNA 400 340 60
TORMDUA 50, 000 49, 930 70
RATHEBIA 30, 000 30, 000 0
HEURA 20,000 19,930 70
BHEIFRHINAGT (1) 133, 109, 443 132, 884, 731 224,712
AFEZH 93,707, 904 93, 681, 655 26, 249
LRy Syt 56, 465, 718 56, 465, 468 250
HEE5X<T 13, 877, 800 13, 877, 800 0
JEEE SIS 11,974, 386 11,975,132 -746
IREEHA ST 890, 000 890, 000 0
EERAESZH 10, 500, 000 10, 473, 255 26, 745
BEER 17,431, 556 17,319, 640 111,916
HEREXN 7,870, 000 7,804, 826 65,174
REEFHEESTH 780, 000 770, 706 9,294
REMRIESZH 2,540, 000 2,538, 226 1,714
ZGEFEETH 2,600, 000 2,587,168 12,832
= SHAE R R RmEST 1,480, 000 1,471,799 2,201
i RIRRIZ I 660, 000 656, 861 3,139
BT BENH 662, 000 661, 743 257
lc L=} 120, 000 105, 775 14,225
& HESZH 719, 556 716, 536 3,020
fy ESi= 10, 855, 826 10,778, 814 71,012
3 BEHEEESTH 1,085, 000 1,084, 677 323
REBETH 26, 050 26, 040 10
z THERRRESZ 280, 000 280, 981 -981
EBHEREST 348, 000 347, 308 692
EFEEST 431, 040 431, 040 0
BEERESTH 450, 000 449, 944 56
SEEX 55, 000 47,547 7,453
[LEREZ 50, 000 46, 000 4,000
ERETESH 6, 870, 600 6, 837, 055 33, 545
EREEESN 4,761, 000 4,728,093 32,907
RTFEFTEH 162, 600 162, 600 0
EBEFTE 1,578,000 1,577,590 410
TOfthDEEE L 369, 000 368, 772 228
FEHRZH 50, 000 44, 448 5, 5652
BENH 725, 000 124, 464 536
RFRIZIH 183, 700 183, 600 100
ERERH 109, 500 109, 500 0
HESZH 191, 936 166, 210 25,726
XHIFIBZ 510, 000 507, 856 2,144
OO 6, 000 6, 000 0
FIRESIMERESIN 6, 000 6, 000 0
BRI (2) 122,511, 286 122, 293, 965 217,321
BEERHETINTER (3) = (1) - (2) 10, 598, 157 10, 590, 766 7,391
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FEAPLVMVRBENR ERINZETEE

(B) ¥r31F4H1H

() H#243A31H

(BEfiL : 1)
HENE FE(A) SRE(B) ER(A)-(B) "z

MR RS MENRINA 500, 000 500, 000 0

e ”)% TR RSB RINA 500, 000 500, 000 0
i HEREERESINAGT (4) 500, 000 500, 000 0
| |REESEASTSMEmESH 3,216, 000 3,216, 000 0
= | |EEaEmvessd 1, 670, 000 1,666, 500 3,500
1T x| EibmR RS 240, 000 239, 000 1,000
2 H | fezmmEves 330, 000 330, 000 0
i BERVHREVSTZH 1,100, 000 1,097, 500 2,500
¥ | |MEREEmSRdEt (5) 4,886, 000 4,882, 500 3,500
MERERSESINTEE (6) = (4) — (5) -4, 386, 000 -4, 382, 500 -3, 500
‘;ﬂ ”)% ZOMOFBIRAG (7) 0 0 0
| RS 2,000, 000 2,000, 000 0
;if z RBPHER - BRI EE ST 2,000, 000 2,000, 000 0
r| [eotoEB=EE (8) 2,000, 000 2,000, 000 0
% |ZOMOEBHESINEELE (9) = (7) - (8) 2,000, 000 -2, 000, 000 0
FHEZE (10) 0
LHIESINT AT (11) = (3) + (6) + (9) — (10) 4,212,157 4,208, 266 3,891
FIERRRINESES (12) 24,570, 607 24, 570, 607 0
UERSTINESRS (11) + (12) 28,782, 764 28, 778, 873 3,891




